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Сканворд "Табурет"
Одно из двух определений в клетке лишнее. Нужно разгадать оба и выбрать 

правильный ответ.

Дефект
моста/
Метод

действия

Рукоятка
сабли/

Орнамент

Период
мезозоя/

Он же
петух

Подъём-
ник/ Зазор
в технике

Красное
вино/

Ксерокс

Судейс-
кая

коллегия/
Городки

Опосты-
левший

штамп/ ...
Кока

"Шумиха"
волн/

Следопыт

Твёрдый
снег/

Событие

Тире и .../
Короткая

майка

Тёртый .../
Ткань

Жмут при
встрече/
Хищная

рыба

Певица-
кумир/ ...
Найтли

Моющие-
ся .../

Травяной
...

Сапожник
сейчас/
Шарм

Шарлиз
.../ Ду-

бильное
вещество

Рыбный
суп/ Вянут
от брани

Самоуве-
ренный
неуч/

Акробат

Ходок в
Зону/

Створка
окна

Антипод
тори/

Обувь из
овчины

Гвоздь из
дерева/

Нож
испанца

Город-
герой/

Рабочий у
пресса

Цветок
осени/

Поза йога

Поэт
любви

Стас на
эстраде/

Груда

Дикий
осёл/

Булочка

Женское
имя/

Толкотня

Шёлк
орденов/
Единица
длины

Здание,
раввин/
Ведение

огня

Моллюск/
Игра в
префе-
рансе

Титул
Дракулы/
Гусеница

Один из
мужей

Мадонны

...
Пачино/
Верблюд

Наяда/
Корабль
Колумба
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